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 Series : HRK/C 40(B) . 

Candidates must write the 
Code on the title page of 
the answer-book. 
 

SET – 4 

             7    
         .         

   

          31    

           ( )  
  

       15           
10.15     10.15   10.30       
               

 Please check that this question paper contains 7 printed pages. 

 Code number given on the right hand side of the question paper 
should be written on the title page of the answer-book by the 
candidate. 

 Please check that this question paper contains 31 questions. 

 Please write down the Serial Number of the question before 
attempting it. 

 15 minute time has been allotted to read this question paper. The 
question paper will be distributed at 10.15 a.m. From 10.15 a.m. to 
10.30 a.m., the students will read the question paper only and will 
not write any answer on the answer-book during this period. 



40(B) 2  

 -II 

SUMMATIVE ASSESSMENT – II 

 

(   ) 

( )

MATHEMATICS 

(FOR BLIND CANDIDATES ONLY) 

(Punjabi Version) 

 

  :  3    : 90 

Time allowed : 3 hours Maximum Marks : 90 
 

  : 

 (i)     

 (ii)      31       – , ,     
    

 (iii)    -   4       6            
    -        10                 
-       11  ,    -    

 (iv)        

 (v)   ,  = 
22
7   

 – 
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SECTION – A 
  

  1  4      1    
 

1.        5        ? 

 

2. 5 ::       O  13 ::      
P             

 

3.   x2 + kx – 
5
4 = 0    

1
2 ,  k      

 

4.   120 .      ( )   60   
              

 

 – 

SECTION – B 

  
 

  5  10      2    
 

5. x     : 4 3x2 + 5x – 2 3 = 0 

 

6.     n   tn = 3n + 4      
        5       
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7.    (3, – 2), (4, 2), (1, 4)  (0, 0)      
      

 

8.        (–3, k),  (–5, –4)  (–2, 3)  
         k       

 

9.           ()     
   ,            

 

10.                 
    

 

 – 

SECTION – C 

  
 

  11  20      3    
 

11. 36 ::            54  
 ::          

 

12.  ,        3.5 :: ,    
      ,          
          

 

13. k           (k + 1)2 x2 –            
2(k – 1)x  + 1 = 0       
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14.         ,    1    

 4           
1
3    

 

15.     ,       30 :    , 
      30         

 

16.             7   
             4.2 : ,   
       ? 

 

17. Y-      -      (–5, – 2) 
 (3, 2)       

 

18.               
        ,      
    

 

19.      ()   14 :.    
 7 :                
  2.1 ::   3 :. ,        
       

 

20. 20  × 15 :     ABCD      3.5 : 
     (Quadrant)         
       
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 – 

SECTION – D 
 

  21  31      4    

 

21. x     : 

  
4
x – 3 = 

5
2x + 3; 









x  0, – 
3
2  

 

22. 7    ,  500   ,      

 

23.              
10      ` 4,000          
           ` 50  ,   
        

             ? 

 

24.          ,       
      

 

25.        ( )    
   ? 

 

26.     ABC     ,   ABC 

   
3
5 ,           
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27.  (2, 1), (4, 3)  (2, 5)         
         

 

28.      ,    1, 3, 5, ............., 35 
   (    )     
              

 (i) 15        

 (ii) 3  5         

 

29.              30   
           60     
60 :  ,         

 

30.     ,        8 :: 
 4 :: ,    8 ::        
          

 

31.             28.49    
           28 ::          
21 ::         

 
 

_____________  
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